H & 0l & AHS B Ml A

IR R
X g2 ZAASHHIA 2E
SAHIMHIA HB EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
ZH 1t 135,490,866 115,829,658 19,661,208
= 20,364,442
[ 17,944,722
Jl 40,319,212
< 56,862,490
& =2 PAZAHA 2= 49,373,616 40,084,289 9,289,327
= 334,902
[ 3,759,742
Il 30,182,070
== 15,096,902
SAMIAMHIA WS 6,092,172 10,171,792 /4,079,620
= 24,000
= 3,759,742
Jl 48,700
S 2,259,730
sHEEHA S 018A= 3,613,750 7,746,250 4,132,500
[ 2,891,000
= 722,750
403 AXIEHHSAH=201H 3,613,750 7,746,250 4,132,500
= 2,891,000
S 722,750
01 AR A =2 £ 3,613,750 7,746,250 A\4,132,500
Os0EAZMHIAINE XA 3,613,750
s 2,891,000
== 722,750
sSHEEHA S 0|FAF(HALEH 7Y) 60,000 0 60,000
[ 40,000
= 20,000
405 AtaHE = 60,000 0 60,000
[ 40,000
= 20,000
01 TR ESF SHI 60,000 0 60,000
Odgad oz&d 2 60,000
= 40,000
S 20,000
sSHEEHA S 0|FAF(HAM =2l) 330,000 60,000 270,000
= 220,000
< 110,000
401 AIZHIX S0HH 330,000 60,000 270,000
[ 220,000
= 110,000
01 A28l 330,000 60,000 270,000
ogad el 330,000




SN EATBY
HY: 3 52 PAARMEIA 7
chel: SHEFIMHIA MS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 220,000
=S 110,000
sHEEHA S JIs B 85,760 85,760
403 MR HHMSAHE01H 85,760 85,760
01 XA 22 % 85,760 85,760
OO SRALHEXAME O&l0l A2
g2 2l2ge 53,760
O7E8Y SEEHIZ A XA 12,000
OAZEAINZA KE ESAM 20,000
AYMEXNJHE &5 60,875 0 60,875
Jl 48,700
& 12,175
403 AXIEHMSAH=0ld 60,875 0 60,875
Jl 48,700
== 12,175
01 MXIHHA 22X 60,875 0 60,875
O MSXN ALY EF(ALHAI) 60,875
Il 48,700
= 12,175
SIS F X A=K 836,365 512,560 323,805
s 608,742
== 227,623
308 XXM SOIA 816,365 512,560 303,805
= 608,742
[ 207,623
01 HAHHBAEES 816,365 512,560 303,805
O2dZF X AN ALY 791,365
[ 608,742
= 182,623
OgAF AN S8 LAY 25,000
403 AXIEHHISAH=0lH 20,000 20,000
02 SIS0t 2 S A AIEHI 20,000 20,000
OAbo 2@ Al SIIE 22| Al 20,000
SEAHYMEE HHAA 18,000 18,000 0
308 AXIHS0IA 18,000 18,000
01 HRHHBSEELS 18,000 18,000
Oplztsls BAFULN HHHLAMATE 18,000
SSEHIM HRW=F 28,542 28,542 0
201 et 3| 6,000 6,000
01 At22t2l] 6,000 6,000
OSSE2AAA HRU= 2 6,000
308 AXIHMSO0IA 22,542 22,542 0
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SN EATBY
M A =2 BABMHIA IAF
el EAEIMBIA WS (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
203 HR=H] 2,880 3,600 AT20
03 A=A 2= 2,880 3,600 AT20
OFAHdy gRFA 2,880
g9 2 28802 40,271,444 29,902,497 10,368,947
= 310,902
Il 30,133,370
== 9,827,172
Z8d YgoqA4sE 7Y 45,000 45,000 0
206 M=l 45,000 45,000
01 MZH| 45,000 45,000
OZEY LHAZF 7 45,000
g2l 2SN 623,400 610,000 13,400
Il 311,700
= 311,700
307 @I2t01 & 623,400 610,000 13,400
Jl 311,700
= 311,700
05 2ItRIE = 623,400 610,000 13,400
OFHgL ZFg2 XA 2 623,400
Il 311,700
s 311,700
288 Us g 8= 30,000 30,000 0
308 AXIHS0IA 30,000 0 30,000
18 SIS0t HAS A 30,000 0 30,000
Ozgd &cl s oy 8= 30,000
U IS EIXIAIE 2,329 5,807 A3,478
Jl 2,064
= 265
308 XtXIEMSO0IH 2,329 5,807 N3,478
Jl 2,064
=S 265
01 XN B2 LS 2,329 5,807 N\3,478
O&U J1ds EIXIA 2,39
Jl 2,064
S 265
OHOHAMI & D1ME M ZAl 28,305 0 28,305
Il 28,305
403 X SHHMSAH=01H 28,305 0 28,305
Jl 28,305
01 XIS A =2 28,305 0 28,305
Ogctelor 2Dl S 288 2l &
A=D| S©= 28,305
Jl 28,306




SN EATBY
B A g2 PARMHIA 2F
ol ge 2 ZZ o2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
g9 & 2ggue2el 20,000 23,600 23,600
201 er23 | 20,000 20,000 0
01 At2teltl 20,000 20,000 0
Oodgys =8 5 22ZLHI S 20,000
A =2 S LHRIZH 32,000 22,000 10,000
) 16,000
= 16,000
308 AtAIEMSOIE 32,000 22,000 10,000
Il 16,000
= 16,000
01 RSN EES 32,000 22,000 10,000
OAcxisZdEE AR X=H 32,000
Jl 16,000
=S 16,000
SASHES 2998 fl2el Hsed 18,600 18,600 0
) 9,300
< 9,300
201 ger=2 3| 18,600 18,600 0
Jl 9,300
= 9,300
03 A= 18,600 18,600 0
OMEN= 28Y /12l Hsed 18,600
Jl 9,300
= 9,300
=8 YEXSE 22 202,000 202,000 0
Jl 202,000
307 @I2t01 & 202,000 202,000 0
Jl 202,000
02 2IZHBYAIAE & 202,000 202,000 0
O=0tNE LHXZEL 2F 22 202,000
Jl 202,000
MEHH =SUHERF us Y =HIH 18,070 19,760 21,690
Jl 13,900
[ 4,170
308 AIXIHHISOIA 18,070 19,760 1,690
) 13,900
== 4,170
01 X SHHBAEXS 18,070 19,760 1,690
Od=tc =stHsSed s & 28l 18,070
Il 13,900
= 4,170
H2ZA2E3| 20,878 20,020 858




SN EATBY
M A =2 BABMHIA IAF
ol ge 2 ZZ o2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 16,060
=S 4,818
308 XtXIEMSO0IH 20,878 20,020 858
Jl 16,060
== 4,818
01 XN BSELES 20,878 20,020 858
OF2Udd HEZAMY 2T (22T
2) 15,678
Jl 12,060
= 3,618
OZgYd E2ZA 2EHI(RHRIEHH) 5,200
7l 4,000
= 1,200
ozt Z2EY olg - 2l At 27,500 28,320 A820
Jl 27,500
201 2= 1,700 0 1,700
7l 1,700
03 A= I 1,700 0 1,700
Ocjzaed 288 MY 2 (M%) 1,700
Il 1,700
308 AXIHMSOIA 25,800 28,320 A2,520
) 25,800
01 RSN EES 25,800 28,320 A2,520
Oogzed 2gY H22A(YEI12) 25,800
Jl 25,800
ZISDI0HON 2EY gzl (Bsael) 56,080 40,105 15,975
7l 42,600
= 13,480
201 el 2,000 0 2,000
Jl 1,000
s 1,000
01 At2teltl 2,000 0 2,000
OTEII0NN 22 ollg2el(AE) 2,000
Jl 1,000
[ 1,000
308 AHAIEHMSOIE 54,080 40,105 13,975
Il 41,600
= 12,480
01 XN B EES 54,080 40,105 13,975
OTSII0H) 239 o2l (AS2eIArd
Jl2) 54,080
Jl 41,600
s 12,480




SN EATBY
M A =2 BABMHIA IAF
el de 2 ZFgogad (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZIEJI00 28 oLl (Az3 ) 25,582 25,582
308 XHXIEMSOIH 25,582 25,582
01 HRHH B E2ES 25,582 25,582
OXEDI0NN 2SE olZ2eAg A& 25,582
IHHYES &Al 36,081,250 26,321,005 9,760,245
) 27,794,809
= 8,326,441
308 AtAIEMSOIE 36,081,250 26,321,005 9,760,245
Il 27,754,809
= 8,326,441
01 AN N B2 LS 36,081,250 26,321,005 9,760,245
O=IH0UYESEAl 22,634,792
Jl 17,411,379
=S 5,223,413
OZZLHY HHES &Al 13,446,458
) 10,343,430
< 3,103,028
HEEESSLHH 2L (ANZE ) 225,984 219,408 6,576
Jl 225,984
308 AXIHSOIA 225,984 219,408 6.576
) 225,984
01 AX N B2 LS 225,984 219,408 6.576
OnLEE SSHH 238X 225,984
Jl 225,984
HEES = 01dEts st Ags & 13,704 21,302 A7,598
7l 6,852
= 6,852
301 LELE NS 13,704 13,302 402
Jl 6,852
s 6.852
14 IIEt2 83 13,704 13,302 402
OUEE= 0ldEsS AstxA2 2sX3 13,704
Jl 6,852
[ 6,852
ALFHAHES HLSES KNBAE 340,312 10,000 330,312
308 AFARIEHMSOIE 340,312 10,000 330,312
01 HAHHBSEXS 340,312 10,000 330,312
OUYZEX HYES NAE 180,120
Ofigoll ogES N2A 123,472
Oty S HLES XA 66,720
SAAZH2ALIAN(E) 38,846 0 38,846
Jl 19,423




SN EATBY
M A =2 BABMHIA IAF
el Ee 2 28302 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 19,423
101 @1A4H| 35,846 0 35,846
Il 17,923
= 17,923
04 JIZtN2Z2XNSE 35,846 0 35,846
OZdAly 222y AHI(%) 36,846
7l 17,923
= 17,923
202 04l 3,000 0 3,000
Jl 1,500
< 1,500
01 =LHNHI 3,000 0 3,000
OZHAg 2| HStXA S 08l 3,000
Jl 1,500
= 1,500
HHAZRAR AL (A2 E ) 369,515 370,711 1,196
7l 284,242
= 85,273
308 XtXIEMSO0IE 369,515 370,711 AT1,196
Jl 284,242
s 85,273
01 XN B2 LS 369,515 370,711 1,196
ORHAZh2AC AL 369,515
Jl 284,242
[ 85,273
Sz At (4], &1 24H]) 485,575 358,283 127,292
Il 485,575
308 AXIMSOIA 485,575 368,283 127,292
Il 485,575
01 AN N B2 LS 485,575 368,283 127,292
OZdac|dgele elAH| 485,575
Il 485,575
SlZJ| 2 BSEtA 22X 310,49% 226,104 84,392
Jl 310,49%
308 AXIHMSOIA 310,49% 226,104 84,392
) 310,49%
01 RSN E2ES 310,49% 226,104 84,392
O2gJ|2t ZHNE 2L 2ES AL 21 24H| 310,4%
Jl 310,49%
ZeH2C ALY 186,738 182,778 3,960
307 212+01& 91,000 91,000 0
02 LB HAHE L 91,000 91,000 0
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SN EATBY
M A =2 BABMHIA IAF
el de 2 ZFgogad (Gt H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
= 11,720
01 HASHHBSEEXS 111,720 102,600 9,120
OstdIelloi At LIcHAL !IZXE S K& 111,720
= 111,720
Z8E FEUSEA N2 2,400 2,400
308 AHXIEMSOIE 2,400 2,400
01 HAHHBSEEXS 2,400 2,400
OHIECIRHES RHUSTAL N 2,400
AME HStZARZE W= 6,000 6,120 A120
202 04| 6,000 6,120 A120
01 =LHOLI 6,000 6,120 A120
Ot A2 HRFE 6,000
A< ojnttist =X 10,000 10,000 0
NS ontiist |Xl 2= 10,000 10,000 0
201 er23 | 10,000 10,000 0
01 At2teltl 10,000 10,000 0
OXNE 2utisy =Xl 82 S 10,000
WX S8 2A=A4d 2E 3,000,000 0 3,000,000
UHE S8 2ASAIE 28 At 3,000,000 0 3,000,000
403 MR HSAHE01H 3,000,000 0 3,000,000
02 SISOt =2 A 2 E A I 3,000,000 0 3,000,000
OUE Z& oS AL 2AHY 3,000,000
ofer otmate| 16,347,784 15,790,068 557,716
= 248,040
[ 1,980
) 10,090,595
< 6,007,169
oot oz &tel 16,347,784 16,790,068 557,716
= 248,040
= 1,980
Jl 10,090,595
= 6,007,169
SSALEEZAZHA =5 3,761,423 3,579,890 181,533
Jl 3,761,423
308 AXIHSOIA 3,761,423 3,579,890 181,533
Il 3,761,423
01 XN BELES 3,761,423 3,579,890 181,533
OdA el 2EAH 3,761,423
Jl 3,761,423
SSA0EA AZHA 2tel 900,000 0 900,000
308 XXM SOIA 900,000 900,000
01 XN B2 LS 900,000 900,000
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2A:

a1 oo piHwa
el e olzae (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Ozz4018R A=A 2% Xg 500,000
A0 SOABHH 23 90,000 90,000
308 XX/ EHHISOIE 90,000 90,000
01 MASNBLExRS 90,000 90,000
OFOfX| A0IHAED 20124 AR
25t 90,000
20t ORS8N ZHEH 28 XI& 720,000 540,000 180,000
308 AHXIHMSOIA 720,000 540,000 180,000
01 MBS Ex= 720,000 540,000 180,000
040t ORISTTEHEH 2 N 720,000
20t ORt - LTS HE 23X 579,800 130,000 449,800
Jl 446,000
S 133,800
308 XX/ EHHISOI A 579,800 130,000 449,800
) 446,000
= 133,800
01 XN B EES 579,800 130,000 449,800
gyoRlolge 2% N 579,800
Il 446,000
= 133,800
S22 o2l e 2x=3 766,000 651,618 114,382
Jl 730,000
LS 36,000
308 ARISMSOIE 766,000 651,618 114,382
Jl 730,000
= 3,000
01 AN BSEES 766,000 651,618 114,382
Ss2=)1& ot e 2x=s 766,000
) 730,000
= 36,000
FHA sS4 2812 & 2,711,800 2,750,800 39,000
| 2,086,000
CS 625,800
308 ARISHMSOIE 2,711,800 2,750,800 £A39,000
Jl 2,086,000
= 625,800
01 MRS ExLS 2,711,800 2,750,800 39,000
OF%N 224 2712 X 2,711,800
) 2,086,000
= 625,800
FHAA S24 245204 ItA 134,000 134,000 0
Il 134,000
308 ARIMSOIE 134,000 134,000 0




2A:

EHX )}

L T_o™

H3: ojor ok 2
s 2lef oz 2t (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| 134,000
01 RIXISHHBAELS 134,000 134,000 0
OF X S=4 2sod mA 134,000
| 134,000
FHUXY A2 UERT 29 5,400 8,400 23,000
J| 5,400
308 AHXIHMSOIH 5,400 8,400 A3,000
| 5,400
01 XIXIEHHBAE LS 5,400 8,400 A3,000
OF RS 2AEH HERKRD 2F 5,400
| 5,400
SzAz dEL)| 22| 3,361,000 3,470,000 A109,000
J| 2,353,000
& 1,008,000
308 AXISHMSOIA 3,361,000 3,470,000 A109,000
| 2,353,000
& 1,008,000
13 SI | 2ASHICHEH B AR L EFALH] 3,361,000 3,470,000 109,000
032z 88| 23| 3,361,000
| 2,353,000
T 1,008,000
NEEH SS2AZMA 23 1,218,000 1,218,000
308 AHXIHMSOIH 1,218,000 1,218,000
01 IXSHBLEERS 1,218,000 1,218,000
ONEEd S350 82018 X& 1,218,000
Mt S22 S 29| 33,120 32,983 137
| 23,184
& 9,936
308 AXIEHMSOIN 33,120 32,983 137
| 23,184
& 9,936
13 B2 SHICHEH B A E L EFALH] 33,120 32,983 137
Oy =2z RS 23| 33,120
| 23,184
& 9,936
MHHHEER 22 K& 125,000 731,000 A606,000
J| 62,500
& 62,500
308 AXISHMSO0IA 125,000 131,000 6,000
| 62,500
& 62,500
13 SI |2 SUHICHEH B AR L{EFALAH] 125,000 131,000 A6,000




2A:

EHX )}

L T_o™

H3: ojor ok 2
s 2lef oz 2t (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONtHEEH 2EXH 125,000
Jl 62,500
== 62,500
S22 AddH 238 187,600 180,600 7,000
Il 93,800
= 93,800
308 AtXIEHMSOIE 187,600 180,600 7,000
Jl 93,800
= 93,800
13 SV I2S0He 4 A AS A 187,600 180,600 7,000
OS=2=X2dH 2] 187,600
Jl 93,800
=S 93,800
sSs2d=A3d 28 XA 250,000 250,000 0
) 125,000
& 125,000
308 AtXIEMSOIE 250,000 250,000 0
Il 125,000
= 125,000
13 SI[2SOHe & EAS A 250,000 250,000 0
Oz S=SA= X3 22| 250,000
7l 125,000
= 125,000
NS 2= S32= A 29 25,000 25,000 0
307 elzto| & 7,000 7,000
05 21t =S 7,000 7,000
OIS NS (0ISSS2AZNME) 2el 7,000
308 AHAIEMSOIE 18,000 18,000
18 SIS0t AS A 18,000 18,000
OS82z dH Sitz 18,000
AEUSE 28 A2 31,840 31,840 0
Jl 22,288
= 9,552
308 XXM SOIA 31,840 31,840 0
Il 22,288
== 9,552
01 XN B2 LS 31,840 31,840 0
odlsHseE 28 K2 31,840
Il 22,288
< 9,552
diAads S SSMX wWSHIXH 220,000 220,000 0
Il 110,000




SN EATBY
HEH: O|ok OLX 2ig|
ciel: oo oz e CCHRED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 110,000
307 gl2tol & 220,000 220,000 0
Il 110,000
= 110,000
05 git?(& = 220,000 220,000 0
OdHads S SSAX HIXI& 220,000
7l 110,000
= 110,000
SSeh (E3) 0ISH N =29 58,000 84,000 £26,000
308 XXM SOl 58,000 84,000 226,000
01 XN BSELES 58,000 84,000 A\26,000
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Jl 26,000
403 X SHHMSAH=01H 26,000 55,000 /29,000
Jl 26,000
01 XM A =2 E 26,000 55,000 229,000
OXsdEsaI| 2= X2 26,000
7l 26,000
olgJg AT S XX At 67,241 79,466 N12,225
= 50,940
= 16,301
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= 50,940
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= 50,940
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308 XXM SOIA 26,000 44,000 18,000
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308 AXIMSOIA 1,500 1,500
01 XN BSELES 1,500 1,500
OZHEA Bs X 1,500
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